=& H(XH 7| &) 7| &
T S=42t 28l 3 4~9%1 10~29<1 302! o]
=A4 HE
(A&HCI, SSCI, 200% 140% 100% 60% 40% 20%
SCI, SCIE)
2 2g
(KCl & 100% 70% 50% 30% 20% 10%
SCOPUS)
| g7t 7|
j Wiys = -
99 e poTr s | 7HEA YorEs 2
25 SSCI, A&HI(ZUHEE),
' Impact factor 1% o|4&<| SCI
2Hsax |
1.6 SCl, SCIE
= . Ay Jl=s OECD=7te| SYat3|staR],
DEg | 2EEEA 20 | 1.2 e KB < a/(n41) | Giioraisio =
oala St iTAch SHAl & SHFEA|,
STLEEES 1.0 e
1. oi7 Sussiax 0.7 stnjol FHsH Jlet sa|
St EAMH (MA) ; -
= 1.5 =3 M2o| SHH HBME
SIEMEMH (MA) of Al w2
HEA o 1.0 Xxie| Ash ZehE HEA
2)ctd= 10 M x 7k8A| x 2/(n+1)
SERRIEE 0.7
7|et ctl= 0.5




